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1) Which of the following is not a characteristic of the scientific method?
A) Deterministic B) Rationalism
C) Empirical D) Abstraction
Imbrbn¡H$s H$moUVo d¡km{ZH$ nÕVrMo d¡{eï²>¶ Zmhr?
A) {ZYm©aH$ ~) Vm{H©$H$dmX
H$) AZŵ dOÝ¶ S>) A‘yV©Vm

2) Research can be Classified as :
A) Basic, Applied and Action Research
B) Quantitative and Qualitative Research
C) Philosophical, Historical, Survey and Experimental Research
D) All the above
g§emoYZ Imbrbà‘mUo dJuH¥$V Ho$bo OmD$ eH$Vo :
A) ‘yb ŷV, Cn¶mo{OV Am{U H¥$Vr g§emoYZ
~) g§»¶mË‘H$ Am{U JwUmË‘H$ g§emoYZ
H$) VmpËdH$, Eo{Vhm{gH$, gd}jU Am{U àm¶mo{JH$ g§emoYZ
S>) darbn¡H$s gd©
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3) Which type of research design expert survey is undertaken?

A) Experimental B) Exploratory

C) Explanatory D) Diagnostic

H$moUË¶m àH$maÀ¶m g§emoYZ AmamIS²>¶m‘Ü¶o VkmH$Sy>Z gd}jU Ho$bo OmVo?

A) àm¶mo{JH$ ~) AÝdofUmË‘H$

H$) ñnï>rH$aUmË‘H$ S>) {ZXmZmË‘H$

4) Blueprint of research work is called

A) Research problem B) Research design

C) Research tools D) Research methods

g§emoYZ H$m¶m©À¶m ãby {à§Q>bm H$m¶ åhUyZ g§~moYbo OmVo?

A) g§emoYZ g‘ñ¶m ~) g§emoYZ AmamIS>m

H$) g§emoYZ gmYZo S>) g§emoYZ nÕVr

5) What is called for the study with a comparison of two periods past and
present?

A) Ex-post facto design B) Ex-pre facto

C) Ex-comparison design D) Ex-periods design

ŷVH$mi Am{U dV©‘mZ ¶m XmoZ H$mbI§S>m§Mr VwbZm H$aUmè¶m Aä¶mgmbm H$m¶ åhUVmV?

A) E³g-nmoñQ> ’°$³Q>mo {S>PmBZ ~) E³g-àr ’°$³Q>mo

H$) ŵVnyd© VwbZm {S>PmBZ S>) ŷVH$mimVrb {S>PmBZ

6) What is the meaning of a Survey?

A) Descriptive B) Fact finding

C) Analytical D) Systematic

gd}jUmMm AW© H$m¶ Amho?

A) dU©ZmË‘H$ ~) VÏ¶m§Mm emoY

H$) {díbofUmË‘H$ S>) nÕVera[aË¶m
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7) A representative sample is related to.

A) Survey method B) Psychoanalytic method

C) Case study method D) Clinical method

à{V{ZYrH$ Z‘wZm Imbrbn¡H$s H$emer g§~§{YV Amho.

A) gd©ojU nÕVr ~) ‘Zmo {díbofUmË‘H$ nÕVr

H$) ì¶ï>r AÜ¶¶Z nÕVr S>) {M{H$ËgH$ nÕVr

8) Which is not a type of question-based on measuring response?

A) Nominal B) Ordinal

C) Interval D) Internal

à{VgmX ‘moOÊ¶mÀ¶m AmYmamda H$moUVm àíZm§Mm àH$ma Zmhr?

A) Zm°‘rZb ~) AmS>uZb

H$) BÝQ>adb S>) BÝQ>aZb

9) Which of the following sampling methods is based on probability?

A) Quota sampling B) Stratified sampling

C) Judgement sampling D) Convenience sampling

Imbrbn¡H$s H$moUVr Z‘wZm nÕVr g§̂ mì¶Voda AmYm[aV Amho?

A) H$moQ>m Z‘wZm ~) ñVarV ¶mÑpÀN>H$ Z‘wZm

H$) {ZdmS>m Z‘wZm S>) gmo¶rMo Z‘wZo

10) Who of the following said tha 'Social Research' is the systematic method of
discovering the new facts?

A) P. V. Young B) F. A. Ogg

C) Red Man and Morey D) None of these

Imbrbn¡H$s H$moU åhUmbo H$s, "gm‘m{OH$ g§emoYZ' hr ZdrZ VÏ¶o emoYÊ¶mMr nÕVera nÕV Amho'?

A) P. V. ¶§J ~) F. A. Ogg

H$) aoS> ‘°Z Am{U ‘moao S>) ¶mn¡H$s Zmhr
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11) Who defined 'Research design as a master plan specifying the methods and
procedures for collecting and anlalyzing the needed information".

A) Henry Manheim B) William Zimkud

C) Ackoff Russel D) R. K. Yin

""g§emoYZ AmamIS>m hm EH$ ‘mñQ>a ßb°Z Amho Omo H$s, Amdí¶H$ ‘m{hVr Jmoim H$aÊ¶mgmR>r Am{U {díbofU
H$aÊ¶mgmR>r nÕVr Am{U à{H«$¶m {Z{X©ï> H$aVo'' Aer ì¶m»¶m H$moUr Ho$br Amho?

A) hoZ«r ‘oZho‘ ~) {db¶‘ {P‘Hw$S>

H$) Ackoff agob S>) R. K. {¶Z

12) Which of the following is not reference-style in research?

A) Turaben B) M.L.A

C) A.P.A D) Indian

Imbrbn¡H$s H$moUVr g§emoYZmVrb g§X ©̂-e¡br Zmhr?

A) Vwam~oZ ~) M.L.A

H$) A.P.A S>) ^maVr¶

13) Which of the following are not types of variables?
A) Dependent and Independent B) Experimental and measured
C) Qualitative and Quantitative D) Participant and Non-participant
Imbrbn¡H$s H$moUVo Mbm§Mo àH$ma ZmhrV?
A) Adb§{~V Am{U ñdV§Ì ~) àm¶mo{JH$ Am{U ‘moO‘mn
H$) JwUmË‘H$ Am{U g§»¶mË‘H$ S>) gh^mJr Am{U J¡a-gh^mJr

14) What is full form of SPSS?
A) Statistical Package of Social Science
B) Statistical Processor of Social Science
C) Standard Package of Social Survey
D) Standard Package of Social Science
SPSS Mo nyU© ê$n H$m¶ Amho?
A) gm‘m{OH$ {dkmZmMo gm§p»¶H$s¶ n°Ho$O ~) gm‘m{OH$ {dkmZmMm gm§p»¶H$s àmogoga
H$) gm‘m{OH$ gd}jUmMo ‘mZH$ n°Ho$O S>) gm‘m{OH$ {dkmZmMo ‘mZH$ n°Ho$O
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15) Which of the following tool used for Random Sample when the population
is very large.

A) Calculator B) Telescope

C) Computer D) Typewriter

bmoH$g§»¶m Iyn ‘moR>r AgVmZm, ¶mÑpÀN>H$ Z‘wÝ¶mgmR>r Imbrbn¡H$s H$moUVo gmYZ dmnabo OmVo.

A) JUH$¶§Ìo ~) Xþ{~©U¶§Ì

H$) g§JUH$ S>) Q>m¶nam¶Q>a

16) Which is the main objective of review the literature?

A) To find out the gap in earlier research

B) To find out the conclusion

C) To find out the methodology

D) To find out the tools and technique

gm{hË¶mÀ¶m AmT>mdmMm ‘w»¶ CÔoe H$moUVm Amho?

A) nyduÀ¶m g§emoYZmVrb dJibobm ^mJ emoYÊ¶mgmR>r

~) {ZîH$f© emoYÊ¶mgmR>r

H$) nÕVr emoYÊ¶mgmR>r

S>) gmYZo Am{U V§Ì emoYÊ¶mgmR>r

17) Which one of the following is not a type of table?

A) Provariate B) Bivariate

C) Multivariate D) Univariate

Imbrbn¡H$s H$moUVm V³¶mMm àH$ma Zmhr?

A) gwMb V³Vm ~) pìXMb V³Vm

H$) ~hþMb V³Vm S>) EH$Mb V³Vm
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18) Which of the following is not a web browser?

A) Internet Explorer B) Mozilla Firefox

C) Google Chrome D) Yahoo

Imbrbn¡H$s H$moUVm do~ ~«mCPa Zmhr?

A) B§Q>aZoQ> E³ñnmoaa ~) ‘moPbm ’$m¶a’$m°³g

H$) JwJb H«$mo‘ S>) ¶mhÿ

19) Who proposed six elements of the research proposal.

A) Earl babbies B) P. V. Young

C) Emory D) Sarantocos

g§emoYZ AhdmbmMo ghm KQ>H$ H$moUr ‘mS>bo.

A) Ab© ~~r ~) nr ìhr ¶§J

H$) E‘moau S>) gam§VmoH$mog

20) Who has given suggestions on the sequence of questions?

A) Fink and Kosecoff B) Theodorson and Theordorson

C) Henry Manheim D) Baker

àíZmdbrÀ¶m AZwH«$‘ZrHo$da H$moUr gëbm {Xbm Amho?

A) {’$ÝH$ Am{U H$mog|H$mo’$ ~) WoS>moñZ© Am{U WoS>moñZ©

H$) hoZar ‘mÝho‘ S>) ~oH$a

21) What is the general meaning of the central tendency method?

A) Average B) Accuracy

C) Reliability D) None of the above

Ho§$Ðr¶‘mnZ nÕVrMm gd©gmYmaU AW© H$moUVm?

A) gamgar ~) AMyH$Vm

H$) d¡YVm S>) ¶mn¡H$s Zmhr
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22) Which of the following is the type of Data distribution?

A) Frequency distributions B) Percentages distribution

C) Cumulative distribution D) All above

‘m{hVr {dVaUmVrb nyT>rbn¡H$s H$moUVm àH$ma Amho.

A) dma§dm[aVm {dVaU ~) Q>³Ho$dmar {dVaU

H$) g§{MV {dVaU S>) darbn¡H$s gd©

23) What is the general meaning of the central tendency method?

A) Average B) Accuracy

C) Reliability D) None of the above

H|$Ðr¶‘mnZ nÕVrMm gd©gmYmaU AW© H$moUVm Amho?

A) gamgar ~) AMyH$Vm

H$) d¡YVm S>) darbn¡H$s H$moUVohr Zmhr

24) Which types of the source includes, interview?

A) Primary B) Secondary

C) Tertiary D) None of the above

‘wbmIV H$moUË¶m àH$maÀ¶m òmoVm‘Ü¶o A§V ©̂yV Amho?

A) àmW{‘H$ ~) Xþæ¶‘

H$) V¥Vr¶ S>) darbn¡H$s Zmhr

25) Which of the following is no method of average calculation?

A) Mean B) Mode

C) Correlation D) Median

Imbrb n¡H$s H$moUVr gamgar ‘mnZmMr nÕV Zmhr?

A) ‘Ü¶ ~) ~hþbH$

H$) ghg§~§Y S>) ‘Ü¶m§H$
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26) Theory which refers to an abstract impressionistic approach rooted in the
philosophical system are called ___________.

A) Grounded Theory B) Grand Theories

C) Miniature Theories D) Speculative Theories

A‘yV©VoMm à^md Agbobm Ñï>rH$moZ H$s Á¶mMr nmio‘yio VËdkmZmÀ¶m ì¶dñWoV AmT>iVmV Ë¶m {gÕm§Vmbm
................ åhUVmV.

A) nm¶m ŷV {gÕm§V ~) ì¶mnH$ {gÕm§V

H$) A§{eH$ {gÕm§V S>) AZw‘mZmËH$ {gÕm§V

27) Who argued that society change from, 'a state of relatively indefinite,
incoherent homogeneity to a state of relatively definite, coherant,
heterogeneity'.

A) Herbert Spencer B) Emile Durkheim

C) Talcott Parsons D) Auguste Comte

"g‘mO hm gmnojV: A{Z{üV Ag§~§Õ EH${OZgrnUm H$Sy>Z gmnojV: {Z{üV, gwg§JV {df‘VoH$S>o namd{V©V
hmoV AgVmo Ago H$moUr åhQ>bo Amho'?

A) h~©Q>© ñnoÝga ~) E{‘b S>H©$ho‘

H$) Q>°b²H$moQ> nmg©Ýg S>) Am°JñQ>o H$m°åQ>o

28) 'Social Conflicts are not always destuctive but may play integrative role'.
Who among the following thinkers did express this view?

A) Ralph Dahrendorf B) Lewis Coser

C) Karl Marx D) Max Weber

gm‘m{OH$ g§Kf© ho Zoh‘rM {dÜd§gH$ ZgVmV nU Vo EH$mpË‘H$ ŷ{‘H$m nma nmSy> eH$VmV Imbrbn¡H$s
H$moUË¶m {dMmad§VmZo hm Ñï>rH$moZ ‘m§S>bobm Amho?

A) amb²’$ S>°aoZS>m°’©$ ~) bwB©g H$moga

H$) H$mb© ‘m³g© S>) ‘°³g do~a
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29) Conflict theory emerged as :
A) Critique of feminist theory
B) Alternatice to Anthony Gidden's Structuration
C) Alternative to structural functionalism
D) Critique of postmodernism
g§Kf© {gÕm§V CX¶mbm Ambm Vmo:
A) órdmXr {gÕm§Vmbm Q>rH$m åhUyZ
~) A°ÝWmbr {JS>Ýg² ¶m§À¶m g§aMZrH$aU {gÕm§Vmbm n¶m©¶ åhUyZ
H$) g§aMZmdmXr-àH$m¶©dmXmbm n¶m©¶ åhUyZ
S>) CÎma AmYw{ZH$VmdmXmda Q>rH$m åhUyZ

30) Which concept of Marx was the basis for Lukac's concept of reification?
A) Feitishism of Commodities B) Surplus Value
C) Commodity D) Super Structure
‘mH«²$g ¶m§Mr H$moUVr g§H$ënZm hr ë¶wH$mg ¶m§À¶m gm‘m{OH$ g§~§YmMo dñVwH$aU Am{U dñVw{Z{ð>H$aU ¶m
g§H$ënZoMm ‘ybmYma Amho?
A) dñVy§Mm d¡{eð>nyU©nUm ~) A{V[a³V ‘yë¶
H$) H$‘m°{S>Q>r S>) A{Yg§aMZm

31) Which type of structuralism was put forwarded by Claude Levi-Strauss.
A) Anthropoligical Structuralism B) Structural Marxism
C) Linguistic Structuralism D) None of the above
³bm°S>© boìhrñQ́>mg ¶m§Zr H$moUË¶m àH$maMm g§aMZmdmX ‘m§S>bm.
A) ‘mZdemór¶ g§aMZmdmX ~) g§aMZmË‘H$ ‘mH²«$gdmX
H$) ^mfmemór¶ g§aMZmdmX S>) darbn¡H$s H$moUVohr Zmhr

32) According to Garfinkel ___________ means the ability to interpret, describe
outside situation to others and himself.
A) Indexicality B) Accounting
C) Accounts D) Reflexivity
Jmaq’$H«o$b ¶m§À¶m‘Vo .................. åhUOo ~mhoaÀ¶m n[apñWVrMm ì¶³Vr Omo AÝd¶mW© bmdVmo Vmo ñdV:bm
VgoM BVam§Zm gm§JÊ¶mMr j‘Vm hmo¶?
A) AWm©Mr g§X ©̂àYmZVm ~) dU©Z gmXarH$aU j‘Vm
H$) dU©Z S>) à{Vq~{~VVm



M/P ENT – 31

-10-

33) Schutz's which concept ignores individual, unique features and focus on
only generic and homogeneous characteristics?

A) Recipies B) Typification

C) Intersubjectivity D) Lifeworld

eyQ²>P ¶m§Mr H$moUVr g§H$ënZm ì¶{º$H$S>o, d¡{eð>¶m§H$S>o Xÿb©j H$aVo Am{U ‘yb ŷV gOmVr¶ d¡{eï>¶m§H$S>o
bj XoVo?

A) V¶madV©ZarVr ~) àH$marH$aU

H$) Am§Vaì¶{³VJVVm S>) OrdZOJ

34) Who is not known as classical sociologist?

A) R. K. Morton B) Emile Durkheim

C) Max Weber D) August Comte

A{^OmV g‘mOemók åhUyZ H$moU AmoiIbo OmV Zmhr?

A) Ama. Ho$. ‘m°Q>©Z ~) E{‘b S>H©$ho‘

H$) ‘°³g do~a S>) Am°JñQ> H$m°åQ>o

35) In his evolutionary framework Marx arranged societics in the order of
___________.

A) Socialism, Primitive Communism, Slave Owning and Feudalism

B) Primitive Communism, Slave Owning, Feudalism, Capitalism and
Socialism

C) Feudalism, Capitalism, Slave Owning, Primitive Communism and
Socialism

D) Capitalism, Primitive Communism and Slave Owning

‘m³g©Zo Ë¶mÀ¶m CËH«$m§VrÀ¶m Mm¡H$Q>rV g‘mOm§Mr ‘m§S>Ur .................. ¶m H«$‘mZo Ho$br Amho?

A) g‘mOdmX, Am{X‘ gmå¶dmX, Jwbm‘ {Jar Am{U ga§Om‘emhr

~) Am{X‘ gmå¶dmX, Jwbm‘ {Jar, ga§Om‘emhr, ^m§S>dbemhr Am{U g‘mOdmX

H$) ga§Om‘emhr, ^m§S>dbemhr, Jwbm‘ {Jar, Am{X‘ gmå¶dmX Am{U g‘mOdmX

S>) ^m§S>dbemhr, Am{X‘ gmå¶dmX Am{U Jwbm‘ {Jar
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36) Which of the following is the best example of Legal Rational Authority?

A) Verstehen B) Bureaucracy

C) Ideal types D) None above

Imbrbn¡H$s H$m¶Xçm {Yð>rV VmH$s©H$ A{YH$mamMo Imbrbn¡H$s gdm}Îm‘ CXmhaU H$moUVo?

A) dñQ>}hoZ ~) ZmoH$aemhr

H$) AmXe© àmê$no S>) darb Zmhr

37) Which of following is correct in concern with non-logical action?

A) Non-Logical Actions have means and ends

B) Its ends are objectively attainable

C) Non-Logical Actions are irrational

D) All above

AVm{H©$H$ {H«$¶m ~m~V Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?

A) AVm{H©$H$ {H«$¶m§Zm gmÜ¶ Am{U gmYZ AgVmV ~) Ë¶mMo CÔrï>o dñVw{Zð>nUo gmÜ¶ H$aVm ¶oVmV

H$) AVm{H©$H$ {H«$¶m VH©$hrZ AgVmV S>) darb gd©

38) Sociology as a separate discipline was emerged primarily out of
___________.

A) Russian revolution B) Enlightenment thought

C) Classical thought D) Social philosophy

g‘mOemó hr EH$ ñdV§Ì emIm åhUyZ àm‘w»¶mZo ................ ‘YyZ CXçmg Ambr.

A) a{e¶Z H«$m§Vr ~) kmZmoXç (à~moYZ) {dMma

H$) A{^OmV {dMma S>) gm‘m{OH$ VËdkmZ

39) Which of the following is not one of the four basic stages of what mead calls
"the act"?

A) Impulse B) Perception

C) Manipulation D) Significant symbols

‘rS> ¶m§À¶m ‘Vo "H¥$Vr' ¶m§Mo H$moUË¶m Imbrb ‘yb ŷV Q>ßß¶m§n¡H$s H$moUVm EH$ Q>ßnm Zmhr?

A) AmdoJ ~) J«hU (YmaUm)

H$) hmVmiUr S>) Cn¶w³V gm§Ho${VH$ {MÝho



M/P ENT – 31

-12-

40) Who is the founder of Social Psychology?

A) Blumer B) Pareto

C) Cooley D) Mead

gm‘m{OH$ ‘mZgemómMo g§ñWmnH$ H$moU AmhoV?

A) ãbw‘a ~) n°aoQ>mo

H$) Hy$br S>) ‘rS>

41) Who distinguished between governing and non-governing elites?

A) Weber B) Marx

C) Durkheim D) Pareto

gÎmmYmar loð>rOZ Am{U {~Ja gÎmmYmar loð>rOZ ¶m§‘Ü¶o ôX H$moUr Ho$bm?

A) do~a ~) ‘m³g©

H$) S>H©$ho‘ S>) n°aoQ>mo

42) Social disparity encourages ____________.

A) Unity B) Divisiveness

C) Homogeneity D) Secularism

gm‘m{OH$ Ag‘mZVo‘wio ................. dmT>rg bmJVo.

A) EH$Vm ~) ’w$Q>raVm

H$) EH${OZgrnUm S>) Y‘©{ZanojVm

43) Which of the following is the oldest Veda?

A) Rigveda B) Yajurveda

C) Samaveda D) Atharvaveda

Imbrbn¡H$s H$moUVm gdm©V OwZm doX Amho?

A) F$½doX ~) ¶Owd}X

H$) gm‘doX S>) AWd©doX
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44) Who of the following argued that tribes are backward Hindus?

A) Verrier Elwin B) G. S. Ghurye

C) N. K. Bose D) All of the above

Imbrbn¡H$s H$moUr åhQ>bo Amho H$s Am{Xdmgr ‘mJmgbobo qhXÿ AmhoV.

A) ìho[a¶a EpëdZ ~) Or. Eg. Kw¶}

H$) EZ. Ho$. ~mog S>) darb gd©

45) Who among the following suggested for creating 'National Parks for the
tribals'?

A) G. S. Ghurye B) D. P. Mukherjee

C) Radhakamal Mukharji D) M. N. Shrinivas

"Am{XdmgtgmR>r amḯ>r¶ CÚmZo' V¶ma H$aÊ¶mÀ¶m gyMZm nwT>rbn¡H$s H$moUr {Xë¶m?

A) Or. Eg. Kw¶} ~) S>r. nr. ‘wIOu

H$) amYmH$‘b ‘wIOu S>) E‘. EZ. lr{Zdmg

46) Which concept introduced by M. N. Srinivas?

A) Secularization B) Dominant Caste

C) Progress D) Development

E‘. EZ. lr{Zdmg ¶m§Zr H$moUVr g§H$ënZm dmnabr?

A) Y‘©{ZanojVm ~) à^mdr OmV

H$) àJVr S>) {dH$mg

47) Which name is associated with writing on Social Background of Indian
Nationalism?

A) A. R. Desai B) M. N. Shrinivas

C) D. P. Mukherji D) G. S. Ghurye

^maVr¶ amḯ>dmXmÀ¶m gm‘m{OH$ nmœ©̂ y‘rer g§~§YrV {bImU H$moUr Ho$bo Amho?

A) E. Ama. XogmB© ~) E‘. EZ. lr{Zdmg

H$) S>r. nr. ‘wIOu S>) Or. Eg. Kw¶}
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48) Indology is known as the science of ___________.

A) Modern Society B) Western Society

C) Traditional Society D) Indian Society

B§S>m°bm°Or ho ................. Mo {dkmZ åhUyZ AmoiIbo OmVo.

A) AmYw{ZH$ g‘mO ~) nmíM‘mË¶ g‘mO

H$) nma§nm[aH$ g‘mO S>) ^maVr¶ g‘mO

49) Who among the following is known Marxlogiest?

A) G. S. Ghurye B) D. P. Mukherjee

C) Radhakamal Mukharji D) M. N. Shrinivas

Imbrbn¡H$s H$moUmbm ‘m³g©bmoJrEñV åhUyZ AmoiIbo OmVo?

A) Or. Eg. Kw¶} ~) S>r. nr. ‘wIOu

H$) amYmH$‘b ‘wIOu S>) E‘. EZ. lr{Zdmg

50) The Constitution of India refers to tribal people as ____________.

A) Scheduled Tribe B) Backward Hindus

C) Girijan D) Aadim

^maVr¶ amÁ¶KQ>ZoV Am{Xdmgr bmoH$m§Mm CëboI ..................

A) AZwgy{MV O‘mVr ~) ‘mJmg qhXÿ

H$) JarOZ S>) Am{X‘


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